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%Matlab Program to Simulate Gaussian PDF
clc
clear all
close all

%Gaussian PDF with Mean 0 and Variance 1
mean=0
variance=1
x=-10:0.001:10;
Gaussian_PDF=(1/sqrt(2*pi*variance))*exp(-((x-mean).^2)/(2*variance));

subplot(2,1,1)
plot(x,Gaussian_PDF)



grid on
xlabel('Values of x')
ylabel('Probability of x')
title('Gaussian PDF with mean 0 and variance 1')

%Gaussian PDF with Mean 4 and Variance 0.5
mean=4
variance=0.5
x=-10:0.001:10;
Gaussian_PDF=(1/sqrt(2*pi*variance))*exp(-((x-mean).^2)/(2*variance));

subplot(2,1,2)
plot(x,Gaussian_PDF)
grid on
xlabel('Values of x')
ylabel('Probability of x')
title('Gaussian PDF with mean 4 and variance 0.5')
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Module 2:

2a)







2b)

Modulation factor or index is the ratio of change in amplitude
of the carrier wave to the amplitude of the unmodulated carrier
wave
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IC 565

IC 565 is the most commonly used phase locked loop IC. It is a 14 pin
Dual-Inline Package (DIP). The pin diagram of IC 565 is shown in the
following figure −
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The process involved in converting analogue signals into digital in physics is called
digitisation, which entails two steps: sampling and quantisation. In sampling, the
analogue signal is measured at regular intervals, and in quantisation, these measured
values are approximated to the nearest value within a set range.
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a) NEED TO INCLUDE CODE FOR EYE DIAGRAM
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